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Merit  exemplar  for  91381  –  2016   Total  score:  17  

Q  
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Annotation  

1   E7  

In  part  (c)  the  candidate  has  fully  explained  both  solutions  –  providing  detail  as  
to  what  the  solution  is  and  how  it  would  improve  the  quality  of  the  product  to  

overcome  the  issue  of  customer  dissatisfaction.  

In  conclusion,  the  candidate  compares  both  solutions  and  includes  new  

information  about  the  other  issues  that  training  could  also  solve  –  such  as  
timeliness  of  deliveries  –  that  implementing  quality  control  would  not  solve.  

The  candidate  has  also  introduced  the  idea  that  training  will  not  create  as  

much  waste  as  the  solution  of  quality  control,  which  could  ultimately  cost  the  
business  more  and  reduce  profitability.  

2   M5  

In  part  (a)  the  candidate  has  not  explained  why  poor  infrastructure  and  a  
shortage  of  modern  storage  facilities  has  caused  the  business  to  have  issues  

with  the  delivery  of  their  cheese,  and  the  impact  of  these  causes  has  not  been  
fully  explained.  

The  effect  on  stakeholders  such  as  customers  and  shareholders  has  been  

fully  explained.  The  candidate  has  made  a  statement  about  the  effect,  has  

given  the  reasoning  behind  this,  and  has  explained  how  it  would  impact  on  the  

stakeholder.  

In  part  (b)  both  solutions  were  fully  explained  in  context.  The  candidate  has  
fully  explained  what  the  solutions  are,  why  they  would  help  solve  the  delivery  

problems,  and  what  the  impact  of  these  solutions  would  be  on  the  business.  

3   M5  

The  candidate  has  fully  explained  only  one  cause  of  the  slow  growth  in  

demand,  and  has  fully  explained  the  effect  on  investors.  

Solution  One  has  been  fully  explained  in  context  as  to  how  it  might  solve  the  

problem  of  slow  growth  in  demand,  i.e.  “…  marketing  the  health  benefits  of  
cheese  …  they  would  be  able  to  show  consumers  how  their  product  is  actually  

good  for  your  health  …  Another  reason  is  that  by  marketing  their  values,  

consumers  would  see  them  as  an  attractive,  transparent,  honest  company  and  
so  would  prefer  them  to  a  competitor.  This  would  result  in  greatly  increased  

sales”.  
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